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	SAMPLE QUESTION PAPER-SOLVED FOR HOME-EXAM-2016
	AS PER NEW SYLLABUS ISSUED BY CBSE



PART-1- STATISTICS FOR ECONOMIC [MM-40]

Q1. With the given below data, draw a Histogram and a frequency polygon:                                                            [3]

	MARKS
	0-10
	10-20
	20-30
	30-40
	40-50

	STUDENTS
	8
	18
	15
	22
	14


SOLUTION-HISTROGRAM AND FREQUENCY POLYGON
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Q2. The sales of a balloon seller in seven days of a week are as given:                                                                        [4]
	DAYS
	MON
	TUE
	WED
	THRU
	FRI
	SAT
	SUN

	sales
	100
	150
	125
	140
	160
	200
	250


If the profit is 20% of sales, Find his average profit per day

SOLUTION-AVERAGE PROFIT DETERMINATION
	Days
	mon
	tue
	wed
	thru
	fri
	sat
	sun

	sales
	100
	150
	125
	140
	160
	200
	250

	PROFITS
	20
	30
	25
	28
	32
	40
	50


AVERAGE PROFIT = [image: image3.png]SOTARTesTeeTALTANTEY
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Q3. If the arithmetic mean of the data given below is 28. Find:                                                                                     [5]
A. The Missing Frequency
B. Median of the series
	Profit
	0-10
	10-20
	20-30
	30-40
	40-50
	50-60

	Retail shops
	12
	18
	27
	-------
	17
	6


SOLUTIONS :           [1]-CALCULATION OF MISSING FREQUENCY

	PROFITS 
	RETAIL SHOPS  [F]
	MV[X]
	FX
	A.M [X] = [image: image5.png]LfX _ 21004354
I sota





	0 - 10
	12
	5
	60
	

	10 – 20
	18
	15
	270
	28 = [image: image7.png]s Teea
8044




HENCE,  A = 20 ANS

	20 – 30
	27
	25
	675
	

	30 – 40
	A
	35
	35 A
	

	40 – 50
	17
	45
	765
	

	50 - 60
	6
	55
	330
	

	
	∑f = 80 + A
	
	∑fX = 2100 + 35 A
	


[2]-CALCULATION OF MEDIAN

	PROFITS 
	RETAIL SHOPS [F]
	CF
	Median class =

20-30
	Location = [image: image9.png]




	0 - 10
	12
	12
	
	

	10 – 20
	18
	30
	
	M = L1 = [image: image11.png]


 x i

M = 20 = [image: image13.png]


 x 10

MEDIAN = 27.41

	20 – 30
	27
	57 [M]
	
	

	30 – 40
	20
	77
	
	

	40 – 50
	17
	94
	
	

	50 - 60
	6
	100
	
	

	
	∑f = 80 + 20=100
	
	
	


Q4. The following series relates to the daily income of workers employed in a firm. Compute:                       [9]

A. Highest Income of the lowest 50% workers

B. Minimum Income earned by top 25% workers and

C. Maximum income earned by lowest 25% WORKERS                                 
	Daily Income
	10-14
	15-19
	20-24
	25-29
	30-34
	35-39

	workers
	5
	10
	15
	20
	10
	5


SOLUTION

[1]-HIGHEST INCOME OF LOWEST 50% WORKER MEANS – MEDIAN

	Daily Income
	Exclusive Group
	F 
	CF
	Location of median class = [image: image15.png]S =325thtem




  i.e   25.5 to 29.5 will be median class

	10-14
	9.5-14.5
	5
	5
	

	15-19
	14.5-19.5
	10
	15
	

	20-24
	19.5-24.5
	15
	30
	M = L1 = [image: image17.png]


 x i

M = 24.5 = [image: image19.png]


 x 5

MEDIAN =  25.125 ANSWER

	25-29
	24.5-29.5
	20
	50
	

	30-34
	29.5-34.5
	10
	60
	

	35-39
	34.5-39.5
	5
	65
	


[2]-MINIMUM INCOME EARNED BY TOP 25% WORKERS MEANS Q3 [THIRD QUARTILE]

	Daily Income
	Exclusive Group
	F 
	CF
	Location of Q3 class = [image: image21.png]48.75 th tem



  i.e   25.5 to 29.5 will be 

Q3 class

	10-14
	9.5-14.5
	5
	5
	

	15-19
	14.5-19.5
	10
	15
	

	20-24
	19.5-24.5
	15
	30
	Q3 = L1 = [image: image23.png]


 x I 

Q3 = 24.5 = [image: image25.png]


 x 5

Q3 =  29.195 ANSWER

	25-29
	24.5-29.5
	20
	50
	

	30-34
	29.5-34.5
	10
	60
	

	35-39
	34.5-39.5
	5
	65
	


[3]- MAXIMUM INCOME EARNED BY 25% MEANS LOWER QUARTILE [Q1]

	Daily Income
	Exclusive Group
	F 
	CF
	Location of Q1 class = [image: image27.png]% = 1625 thtem




  i.e   15.5 to 24.5 will be 

Q1 class

	10-14
	9.5-14.5
	5
	5
	

	15-19
	14.5-19.5
	10
	15
	

	20-24
	19.5-24.5
	15
	30
	Q1 = L1 = [image: image29.png]


 x I 

Q1 = 19.5 = [image: image31.png]


 x 5

Q1 =  19.92 ANSWER

	25-29
	24.5-29.5
	20
	50
	

	30-34
	29.5-34.5
	10
	60
	

	35-39
	34.5-39.5
	5
	65
	


Q5. In a town, 25% of the persons earned more than [image: image32.jpg]


 45,000 whereas 75% earned more than [image: image33.jpg]


18,000. Calculate the absolute and relative values of dispersion                                                                         [4]
SOLUTION:

1. 25% OF PERSONS EARN MORE THAN 45,000 MEANS  Q3 [UPPER QUARTILE], Q3 IS GIVEN AS [image: image34.jpg]


45,000
2. 75% EARNED MORE THAN [image: image35.jpg]


18,000 MEANS Q1 [LOWER QUARTILE]
ABSOLUTE VALUE OF DISPERSION MEANS = QUARTILE DEVIATION = [image: image37.png]e _ e
2 2

= 13,500 ANS




RELATIVE VALUE OF DISPERSION MEANS COEFF. OF DISPERSION =[image: image39.png]A S i
Q3+Q1 _ 25,000+18000

0.214 ANS




Q6. Draw the Lorenz curve from the data given below.                                                                                                   [5]

	Income
	100
	200
	400
	500
	800

	Persons 
	80
	70
	50
	30
	20


Q7. Calculate the mean Deviation about the mean and Standard Deviation for the following distribution.
[ANS-MD= 19.96; SD = 26.17]                                                                                                                                      [10]

	classes
	20-40
	40-80
	80-100
	100-120
	120-140

	frequencies
	3
	6
	20
	12
	9


PART-2-INDIAN ECONOMIC DEVELOPMENT [MM-50]
Q8. When was India’s First official census operation undertaken?                                                                              [1]

ANS-1921 [BRITISH PERIOD.]

Q9. Why were reforms introduced in India?                                                                                                                       [ 4]

ANS :-

A. India was facing a financial Crisis and was forced to borrow from International Organisations like the world Bank and IMF.

B. Economic Reforms were introduced due to the pressure from these Organisations as a condition to avail loan from them.

Q10. Why did India opt planning?                                                                                                                                             [4]

ANSWER:

A. Colonial Govt. left India a poor, Stagnant and backward state.

B. Secondly, Initial success of Economic Planning in the USSR encouraged the Indian Thinkers to plan the Economy for growth and self reliance and put the country on the path of development.

Q11. Mention five companies that have BPO services in India.                                                                                         [4]

ANSWER:

A. GENPACT, WIPRO BPO, HCL BPO, ICICI.

B. IBM DAKSH are top most five companies offering BPO services in India in Banking, Financial, Insurance services and help desk operations.

Q12. What is meant by Food for work programme?                                                                                                             [5]

ANSWER:

A. Food was work programme was launched in the year 2005 as a part of Govt. Poverty Alleviation Programme.

B. It was launched to provide additional supplementary wage employment to unskilled people in rural areas

C. It initially covered 150 districts but later was to be extended to every rural poor in need of wage employment

Q13. What is the difference between relative and absolute poverty                                                                             [6]

ANSWER:

RELATIVE POVERTY:
A. It Refers to poverty in relation to different classes, regions or classes
B. It is a measure of inequality of Income
C. It is an indication of the contrast between the lives of the poor and the lives of those around them

ABSOLUTE POVERTY:
A. It is the actual number of people living below the poverty line.

B. It is measured with the help of poverty line

Q14. What is organic Farming and how does it promotes Sustainable Development.?                                             [4]

ANSWER:
A. Organic Farming means use of traditional practices of farming viz. Application of animal manures and composts and natural integrated pest control
B. Organic Farming promotes sustainable development since it maintains, enhances and restores the ecological Balance.
C. Organic Farming reduces damages to environment by refraining from the use of synthetic fertilizers and pesticides, genetically modified Organic and pharmaceuticals.
D. Pest and diseases are controlled with naturally occurring means and substances according to both traditional as well as modern scientific knowledge, increasing both agricultural yield and disease resistance.

Q15. Explain the  various types of unemployment [viz. open, structural, disguised, seasonal, cyclical and frictional unemployment] in rural and urban areas                                                                                                 [12]

ANSWER:
1. OPEN UNEMPLOYMENT:
A. It refers to situation wherein although the worker is willing to work and has the necessary ability to work yet he does not get work
B. He remains unemployed for full time and fails to get any work, causal or full time

2. STRUCTURAL UNEMPLOYMENT:
A. Structural Unemployment is caused due to inefficiency of the capital Structure of a developing country 
B. Due to which country is unable to absorb the large labour force.

3. DISGUISED UNEMPLOYMENT:
A. It refers to Typical Indian Agriculture where more people are working on a piece of farm than are required.
B. They do not contribute to productive work and when withdrawn donot result in a fall in output

4. SEASONAL UNEMPLOYMENT:
A. It is found primarily in Agriculture Sector where people do not get work for all the months in a year due to seasonal character of agriculture
B. Consequently unemployed people move to Urban areas in search of causal employment

5. CYCLICAL UNEMPLOYMENT:
A. Cyclical unemployment occur due to periodic rise & fall in trade pattern of an economy
B. Cyclical unemployment occur due to change in Demand conditions

6. FRICTIONAL UNEMPLOYMENT:
A. It occurs due to imperfection and mobility of labour force across different occupation
B. The productive period lost in between one job to another is termed as a period of frictional Unemployment

Q16. Give reasons for the slow growth and re-emergence of the poverty in Pakistan                                              [5]
SOLUTION:

 REASONS RESPONSIBLE FOR SLOW GROWTH & RE-EMERGENCE OF POVERTY

A. Pakistah  Focussed more on agriculture. And Agriculture Growth and availability of food is dependent on good harvest, subject to good climatic conditions and not technological progress

B. Weak world demand for its export has contributed to Pakistan’s high trade deficit.

C. External imbalance has left Pakistan with a growing foreign debt
Q17. What are the causes and remedies of soil erosion in India?                                                                                     [5]
SOLUTION:-  SOIL EROSION:

A. Soil Erosion occurs naturally in all lands

B. Agents of soil erosion are:

1.  Water ,

2. Wind and 

3. Human Activities

C. Soil Erosion causes serious loss of topsoil.

D. CAUSES OF SOIL EROSION:

1. Tillage and cropping practices causes lower soil organic matter levels, causes poor soil structure. Hence ultimately, It increases the soil Erosion.

2. The steeper the slope of a field,  greater is the amount of soil loss from erosion by water

3. Soil erosion is high when the soil has no or very little vegetative cover of plants or crop residues.

4. Excess tillage also contributes to Soil structure breakdown and hence increases Soil erosion.

CONSERVATIVE MEASURES:

A. Tillage [prepare land for growing crops] and cropping practices as well as land management practices.

B. When Crop Rotation or changing tillage practices are not enough to control soil erosion on a field, a Combination of approaches may be applied.

C. For Example, contour [ An outline of the shape or form of something] ploughing, strip cropping  or terracing may be considered
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